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Important Instructions

Candidates should read the undermen-
tioned instructions carefully. Violation
of any of the following instructions may
entail penalty in the form of deduction of
marks, cancellation of candidature,
debarment from further Examination of
the Commission etc.
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(a) Write your Registration Number and other
details only in the:space provided in the
Question-Cum-Answer (QCA) Booklet for
candidates. ;

(b) Do not_disclose “your identity in any
manner. such as, by writing your Name,
Registration number, Mobile | number,
Address, Questlon-Cu_m-Answer (QCA)
Booklet No. etc. elsewhere.in the Booklet
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Do not write in the. QCA Booklet anything
other than the actual answer such as couplet,
obscene, abusive expression etc., nor put any
sign/mark having no relevance to the answer.
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Do not write answers in bad/illegible
handwriting. Such answers may not be
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Write answers in ink only. Do not use pencil
for writing the answers. However, pencil may
be used for drawing diagrams, sketches, etc.
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Do not write answers in medium other than the
authorized medium in the Admission
Certificate. Do not use mixed language either
i.e. authorize and unauthorized media together
for writing answers.
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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read eadi of the following instructions carefully before attempting questions.
There aré TWENTY questions printed both in HINDI and in ENGLISH.

All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be stated
clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No marks will be
given for answers written in a medium other than the authorized one.

Answers to Questions No. 1 to 10 should be in 150 words, whereas answers to Questions No. 11 to 20
should be in 250 words.

Keep the word limit indicated in the questions in mind.
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It is argued that mathematics and astronomy were an important part of intellectual development in

ancient India. In this context, highlight the major contributions of ancient India to these areas.
(Answer in 150 words) 10
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In context of the rivalries, which existed between the English and French trading companies in

India, highlight the factors, which led to the success of the English East India Company in its
struggle against the French. (Answer in 150 words) 10
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The early nationalist leaders saw the internalization and indigenization of political dgr_nﬂ:'racy as
one of their main objectives. In context of the statement, identify the democratic practices
adopted by organisations and individual leaders during the freedom struggle. (Answer in 150

) sl 10
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What were the causes of the Iranian Revolution of 19792 In what ways do the consequences of mm,.,,
this revolution remain relevant even today? (Answer in 150 words) 10 memat: net
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Analyze the impact of globalization on indigenous craft, literary traditions and traditional
knowledge systems in India. (Answer in 150 words) 10
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Juvenile delinquency has attracted much media attention in recent years. What are the factors that
drive the juveniles towards crime? In this context, state the significance of rehabm and
reformative measures for juvenile delinquents. (Answer in 150 words) 10
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Highlighting the health challenges that tribals are facing in India, suggest a roadmap to improve
the health indicators of the tribals. (Answer in 150 words) 10
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Give an account of the geographical distribution pattern of major agro-based industries in India.

Also, explain their multiplier effect on rural economy. (Answer in 150 words) 10
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Highlight the reasons and resultant implications of disappearance of urban water bodies in India.
Mention some of the steps which can be taken in this regard. (Answer in 150 words) 10
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Explaining the role that Ocean Iron Fertilization can play in the fight against climate change,
discuss the concerns associated with its large-scale adoption. (Answer in 150 words) 10
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In India a vast number of languages are potentially endangered. Discuss the reasons and

implications of disappearance of a language. Also, suggest measures 10 preserve potentially
endangered languages. (Answer in 250 words) 15
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While the British established a judicial system based on the rule of law, in practice this system

suffered from numerous drawbacks. Analyze keeping in mind the developments between 1793
and 1833. (Answer in 250 words) 15
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Trace the evolution of British policy towards the princely states in India. How did the freedom
movement impact the people of these princely states? (Answer in 250 words) 15
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o wftfeafaat wr w@fer Fawor §fm G 1972 &1 former awetar geamafa gar am o
HEAU WTAUTHT FT Ieeg 7 gu, =TT Ao B 77 77w F o uE @ ga aqew
97| (377 250 9=41 | 3)

Give a brief account of the circumstances under which Simla agreement was signed in 1972.

Mentioning its important provisions, discuss whether it was a lost opportunity for India. (Answer
in 250 words) 15
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qTA F AAF FAHA B IO FAFT AT qATHT FTA FT F0A A0 7 E, e
o fF a7 s # o d@wmor 1 fi g warfae #5777 81 (39T 250 9= | F)
State the push and pull factors responsible for internal migration in India. Also examine how it is
impacting urban transition in India. (Answer in 250 words) 15
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Examine the factors responsible for poor performance of family planning programme in India.
Suggest some family planning strategies, which can be adopted for improving reproductive health

outcomes and achieving family welfare. (Answer in 250 words) 15
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Women experience poverty differently and more acutely as compared to men. In this context,
explain the socio-economic factors, which contribute to feminization of poverty in India. How
can this problem be tackled? (Answer in 250 words) 15
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ared # erfta Frawarst % aftae gg st #ot w1 3argiwr afge ittt i o 57
7 % form g Tortfaa &1 e € (397 250 gt i F)

Giving examples, highlight the reasons behind existence of regional disparities in India. Suggest
some strategies to address them. (Answer in 250 words) 15
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AT WA T TAHET w7 A @A e e T gu, e fifaw G g
fareramft F7ar 747 w57 #1 (397 250 o=31 & %)

Highlighting different factors affecting Indian monsoon, explain why it is difficult to predict it.
(Answer in 250 words) 15
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o wftfeafaat % qex sz fifsm R sor wfasfir s afzeor sfada swa s a9
8, 0 7 &, 0 e 219 # o ww 2 81 (39w 250 a5 # F)

Differentiate between the conditions in which tropical and extra-tropical cyclones originate,
move, mature and decay. (Answer in 250 words) 15
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